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T 10.15 5 5T IT@W | 10.15 ST § 10.30 1 b B hadd IH-UF bl TeTl
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e Please check that this question paper contains 10 printed pages + 1 Map.

e Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 26 questions.

¢ Please write down the Serial Number of the question before
attempting it.

e 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the

students will read the question paper only and will not write any answer on
the answer-book during this period.
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FEiRa 77 : 3 T2 S7feHTH 37 : 80

Time allowed : 3 hours Maximum Marks : 80
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() 39 J97-97 H IR GUSI 7 [F9I5a 1397 797 8 | @ &, @U8 &, @S T 3K

Gug & |/
(i) 39 J99-99 4 $T26 FH & |
(i) G 37 S & |
(iv) HcI® J97 & 37H 3G% G 1T TT & |
(v) I 7 T A TG-FTIT I E | 9% To7 1 3% H1 5 |

(vi) Y97 G&IT 8 T 18 % Ycd%h Y97 3 3% F & | 378 & I Jo7 H IH

80 og] @ 37feres @7 781 &7 FfT |

(vii) ¥o7 G&IT 19 T 25 % Jcd% J97 5 b 7 8 | 378 & Id% J97 H I
100 3753 @ 37fere &7 987 &7 =eT |

(viii) Yo7 G&IT 26 HAEGT J97 5 37 HT & | 399 3 YT & — 26 (A) 3K 26 (B) |
26 (A) 2 37% T A5G @ 7T 26 (B) 3 37 &7 YT & & | TlGT T 97
7O &4 T 3G 91 FR-GIaHT & 3K 7791 BT |

General Instructions :

(1) The question paper is divided into four sections — Section A, Section B,
Section C and Section D.

(it)  The question paper has 26 questions in all.
(iti) All questions are compulsory.
(iv) Marks are indicated against each question.

(v) Questions from serial number 1 to 7 are Very Short Answer Type
Questions. Each question carries 1 mark.

(vi) Questions from serial number 8 to 18 are 3 marks questions.
Answers to these questions should not exceed 80 words each.

(vii) Questions from serial number 19 to 25 are 5 marks questions.
Answers to these questions should not exceed 100 words each.

(viii) Question number 26 is a map question of 5 marks with two parts 26 (A)
and 26 (B) — 26 (A) from History (2 marks) and 26 (B) from Geography
(3 marks). After completion, attach the map inside your answer-book.
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SECTION A

1. 1815 ¥ AfUehe Flgard I HaeATsli 3 Hretel shifd & S Jlgd qmft i

fafa # & foru defim & frm w=i s 2 1
arera
1907 ¥ forram ® “Ciferd Sh1 ®ha’ @It Qi TR 2 1

Why did most of ‘conservative regimes’ impose censorship laws to control
printed material associated with the French Revolution in 1815 ?

OR
Why was the ‘Tonkin Free School’ established in Vietnam in 1907 ?
2. HgU I H YE ARG | IUgfAfEt sk SuR § i el off 2 1
AT
TR | sEdl Te) & IR g9kl § AfE1st 3 s=ll i IU=ATEl ol U &
ITT: galcdTiga @it foham T 2 1

Why were manuscripts not widely used in India before the age of print ?

OR

Why were women and children often discouraged from reading novels in
the early decades of the twentieth century in India ?

3. unEes H @ fhamd form yehr y-fafiehtor & fotu IoRerft 8 2 1
HAAAT
Tora H 3f weEn -t o fofe S saterh 7 2 1
How are mining activities responsible for land degradation in Jharkhand ?
OR

How is overgrazing responsible for land degradation in Gujarat ?

4.  dfcoaw § ATEIRe SRR Sy IH S g ? 1

How is community government elected in Belgium ?

5. Y& % AR IRER hH Tk AdShl & o faemma 1 @& = 8 geha1 8 2 1
STt
Tk grad fora & fou foepme o1 e o g1 gehat B 2 1
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What may be a developmental goal of a girl who belongs to a rich urban
family ?

OR

What may be a developmental goal of a rich farmer ?

6. IS UF Ik IT(UHh &ehi b1 Teh-Ueh IQTEVI fAIRAT |

Give one example each of primary and tertiary economic sectors.

7. a9 ug fadeft fEw # @ o il |
Distinguish between investment and foreign investment.
Qs g
SECTION B

8.  fored o8 Use U9 & w9 T 3ifEded H M1 2 SRS i |
Jrera
forrae o e hH TSHITaeh 3R ATERideh TN & ST@IEl H 95 ¢ ? STE
s |

How did Britain come into existence as a nation-state ? Explain.

OR

How had schools in Vietnam become an important place for political and
cultural battles ? Explain.

9. ISl wAEE H YWd H fohE YRR o=, Afgenell 3TN IR oh €9 H &
&I § AU U3k 9¢ ? ITEWN Uigd AT shIfaT |
Jrera
sfufrafses aer @ 2oty Ssu=mEl # e Sfem o Gfafest @ g
SRR 1 T FIq il ToR 7T 2 3T Ffga samean Hif |

How had a large number of new readers among children, women and
workers increased in nineteenth century Europe ? Explain with examples.

OR

How were vernacular novels a valuable source of information on native life
and customs for colonial administration ? Explain with examples.
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10. < o A1k fammm K g & w9 9 fafmior e & Agw o1 9uig I | 3
HAYAT
HN o fohrE H TN o ANTGH T JUH I | 3

Describe the importance of manufacturing industries as a backbone of
economic development of the country.

OR

Describe the role of industries in the development of agriculture.

11.  “gured faee wes Sfed afshan 2 17 denl Afgd 39 eF sl HETTd 38UsT | 3

“Resource planning is a complex process.” Justify the statement with
arguments.

12. ol ° Sfa ford TR 37 ®9 o Hehdl 8 2 3S8WN digd saredT hifve | 3

AT

AR X H ATSE) o oG § Algensti 6 feufd § 8 gan gsn ? el |ied
ST HIT | 3

How can caste take various forms in politics ? Explain with examples.

OR

How had the position of women improved in our country since
independence ? Explain with examples.

13. “TArepditieh qae i aEt Tbetal FAfhd 3R fsaer gmEt § 7 17 39 Hed &
fergerwor ShifST | 3

“Democracies have had greater success in setting regular free and fair
elections.” Analyse the statement.

14. “Thad I HeEd HE HI AN S AlhdIENh FGEAT oh HHA Tohell T fopelt
w9 T 7 |” 3TN Afgd YA A gfee Hifvw | 3

“The challenge of deepening of democracy is faced by every democracy in
one form or another.” Support the statement with examples.

| 32/3/1 5 P.T.O.



[=]~*!

15. TH WTehideh THIEHT 1 3fd R foeehyash &1 & ITANT T AT AT, ? 379
foam =1 T HIfvT | 3
Why should we use natural resources properly and judiciously ? Explain
your views.

16.  3Thal Y &F | Bl ATUH USHIR h¥l Icdd fohT ST Tehd & ? fohral oM IUTT <hl

ST HIY | 1x3=3
e

WRA H SUSATY shl |We 1 8 gL fohal ST Eehal & ? fohegl i Iumil o

T HINT | 3

How can more employment be created in agriculture sector alone ? Explain
any three ways.

OR

How can the problem of unemployment be eradicated in India ? Explain
any three ways.

17. “U GhRIcHS YR TG HL Ghal & |7 T HUA hl doh dlgd ~AFET
SIAER 3
rera

“FUT TRTICHS USRI IS H THhAT & |7 FH HUT I dh dlegd AP
3alley | 3

“Credit can play a positive role.” Justify the statement with arguments.

OR

“Credit can play a negative role.” Justify the statement with arguments.

18. ¥R H foesfi e =l 3hiva == & U g 9 TS9 TSN g0 33T 7T
forgl i shemi w1 avfa i | Ix3=3

Describe any three steps taken by the Central and State governments to
attract foreign investment in India.
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20.

Qs 1
SECTION C

TRTeHT el o ol 3R TS i Taenon % fow § e wegl ST

S T oft 2 sare i | 5
HAYAT

TRd o fafys vr 4 foraml ot srifeanfE= 3 ‘smagai sTeiad’ ° o IR

T forn 2 s hifST | 5

How did plantation workers have their own understanding of Mahatma
Gandhi and the notion of Swaraj ? Explain.

OR

How had peasants and tribals participated in the ‘Non-Cooperation
Movement’ in different parts of India ? Explain.

1920 % YR o H fohd yor sfieh! Srefeasen g: osft & awehl i

M 2 IS0 Gfgd SAredT hifau | 5
3AYAT

el IdTed! o SN Fis H SR H 2| hl SEdEd | wegl ol et ha

THTII 83 ? 3G Higd SATed] hifg | 5
AYAT

IAHE] WAl § TS & HU IR HREH H iAo g8 AW W AT °

8 it T 9er 7 S off 2 e wfgd e Fif | 5

How had the U.S. economy resumed its strong growth in the early 1920s ?
Explain with examples.

OR

How did the abundance of labour in the market affect the lives of workers
in England during the nineteenth century ? Explain with examples.

OR

How had widespread use of coal in homes and industries in nineteenth
century England raised serious problems ? Explain with examples.
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21. WA § IME T 2 TgE WeR BEet % T8 RRaT | 3 Gt BeEet B 3T 6
AT I o 1 ITeh 3T o &A1 bl Ui hIfST | 1+2+2=5

Name the two major fibre crops grown in India. Describe the conditions
required for growth of these two crops with their growing areas.

22, “fordll <91 & TSI IR i 3o ST a1 a1 2 |7 dehl dfgd e
] ~TEETd 38T | 5

“International trade is considered the economic barometer of a country.”
Justify the statement with arguments.

23. YA 39 fowmer < # H-wadla TWHR & ug *1 9l HIfu | Ix5=5
AAAT
Teare i fohedl ure faemansti o1 o i | Ix5=5
Describe the importance of a third-tier of government in a vast country like
India.
OR

Describe any five features of federalism.

24, Tr=fafea gl 1 U @ & 91d o 9 1 9gEH R PEEg hivT 5
(i)  -SMS Hihd
(i)  TRmeft sremreft gt
(i) ...

(iv) ~ Trgardl s uret
(v)  WRAE ST qréf
(vi) 3@ o

(vii) HRES scAih

(viii) SHdT & ()

(ix) TS ST g
(x) FHNETE! q1el
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Identify and list the following political parties as National and Regional
political parties :
) National Conference
(11) Shiromani Akali Dal
(ii1)) D.M.K.
(iv)  Nationalist Congress Party
(v)  Bharatiya Janata Party
(vi)  Shiv Sena
(viil) Forward Bloc
(viii) Janata Dal (U)
(ix) Rashtriya Janata Dal
(x)  Samajwadi Party
25. “STR § 9T g ®UI H A1 B |7 TS HINT | 5
“Exploitation takes place in the market in various ways.” Explain.
Qs v
SECTION D

26. (A) T AU ‘@’ I’ b U MU wRA &% eHIfIw W@r-AERE (I8 11 W), §
Sferd fopy U @ | 39 w1equn skl fAmferiad SRl shl wgrdr 8 gg=ne
3 3Tk Tl 9 3k FHIT Fi= 78 Warst W fafan 1x2=2

(a) & T ST&T WRATT TS HiTE 1 A= g3 |
(b) 98 T F&l § A hI Wt L A7 FREMI 1 IGIeH TR T |

B) = feu T wwa % oo W@amts § Gmfatad § 9 et @i

I I BT W RIS IR Ik A1 fIRaT 1x3=3
(i) dHS — oy

(i) it —  Yq@ 995 q°H

(iii) T —  rE 3R 3 g

(iv) BeUEle - TP TeTeArsil dTeh

(v) T N INEE IR

32031
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(A) Two features ‘@’ and ‘b’ are marked on the given political outline
map of India (on page 11). Identify these features with the help of
the following information and write their correct names on the
lines marked near them :

(a) The place where the Indian National Congress session was
held.
(b) The place from where the movement of Indigo planters was
started.
(B)  Locate and label any three of the following with appropriate symbols
on the same given political outline map of India :

(i) Hirakud — Dam

(i1)) Kochi —  Major sea port

(iii) Salem —  Iron and Steel Centre

(iv) Hyderabad -  Software Technology Park
(v) Naraura —  Nuclear Power Plant

qig:  HEIad Je7 #ac grRETad qagniaal & /g I 6T 26 F T T/
& | fa=gT aier 3991 & 3 71w -

Note: The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 26. Attempt any five questions :

(26.1) 39 TST I A (ARG, F&T Al eTe ST =T 85 |

(26.2) 3T TIM 1 9M fARgu, &l fid h Tt HH O fmEHET 3 T IwE
ferarm |

(26.3) TSHIG o 3 TN &1 91 foafgu, Sgf fhamt 4 aemrg o |

(26.4) 3T USF &1 W fifgu, @7 deart dig-3%h @ & § |

(26.5) 38 TS &1 AW feifgu, Sgt Sifa aqg o feom 2 |

(26.6) 3 TSY 1 AW faifgq, &l R 31fvaeh T fed 7 |

(26.7) 3 UsH 1 A foiflgy, &t giqe Aren aorn se9rd w3 feerd 2 | 1x5=5

(26.1) Name the State where Jallianwala Bagh incident took place.

(26.2) Name the place where the Indigo planters organised Satyagraha.

(26.3) Name the place where the peasants started Satyagraha in
Gujarat.

(26.4) Name the State where Bellary Iron-ore mines are located.

(26.5) Name the State where Kochchi Sea Port is located.

(26.6) Name the State where Naraura Nuclear Power Plant is located.
(26.7) Name the State where Durgapur Iron and Steel Plant is located.
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I E. 26 % fow For question no. 26

WA kT WET-HTA T (TR )
Outline Map of India (Political)
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